Multiplicacion por Celosia (I)

Use la multiplicacion por celosia para hallar cada producto.

32 x99 = 53 x38 = 26 X 65 = 45 X 69 =

7 2 2 5 4 1 9
2 1 9
5 1 4
72 x 25 = 2B5x1l=_  41x94= 93 x 12 =
2 5 9 0 7 1 9
8 5 7
5 6 7
25 X 85 = 90 x 56 = 71 <77 = 99 x 80 =
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Multiplicacion por Celosia (I) Respuestas

Use la multiplicacion por celosia para hallar cada producto.

32 x99 = 3,168

94 x 57 =5,358

72 x25 = 1,800

25 % 85="2.125

53%38=12.014

94 x 60 = 5,640

0 2 5

25x 11 =275

9 0
4 0 5
5 5 0
5 0 6
0 4 0
4 0

90 x 56 = 5,040

6 0 0

26 x 65 = 1,690

12 x62 =744

41 x 94 = 3,854

71 x 77 = 5,467

45 %69 = 3,105

95 x 24 = 2,280

93x12=1,116

9 9
7 7 3
7 2 2
0 0 0
9 0 0
2 0

99 x 80 =7.920
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